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1 1.3 1| B SRR W7 3 i w=23.5 4 1,150 1,150 0 0| 100.0%| 0.0% S63.4.8 344
2| Bl | 3 - 2 1| Al R AR w=30| 4 8810 1,990 | 1927 4,893 22.6%| 55.5%| S57.4.20 404
3 mR 3 - 2 SO| AT I A AR w=30 2 680 0 0 680 0.0%| 100.0%| H10.2.20) 244F
4) @i 3 -3 2|k BRPE AR w=28 4 880 880 0 0| 100.0%| 0.0%| SI11.5.18 864
5 |3 -3 310 2 Seit w=22 4 2410 1,640 0 770 68.0%| 32.0%| SI11.5.18 864
6| Bl | 3 - 3 4\[EE 1 7 B w=28 4, 15,730 14,870 860 0 94.5%|  0.0%| S36.3.23 614
7| 303 S|EE 1 8 Tk w=22 4 3,740 3,740 0 0| 100.0%| 0.0%| S36.3.23 614
8| @l | 3 - 3 6| i I 58 2 A w=24| 4 7,640 7,640 0 0| 100.0%| 0.0%| SI11.5.18 864
9 mlF| 3 - 3 7| B R R AR w=24] 4 4,490 2200 2,110 180|  49.0%| 4.0%| S51.7.30 464
10| =il | 3 - 3 8| 8 I R A 1 R w=24 4 7,190 7,190 0 0| 100.0%| 0.0%| S11.5.18 864
1| @] 3 - 3 9| BRI AR w=25 4, 11,110 11,110 0 0| 100.0%| 0.0%| S33.3.18 644
12| @il 3 - 3 11|43 0 fR w=22("20) 4, 12,080 12,080 0 0| 100.0%| 0.0%| S21.10.7 754
13| =il | 3 -3 45|35 J2 AR AR w=25 4 4980 1460 | 1370 2,150 29.3%| 43.2%| H5.5.14 204
14| BB |3 - 3 59| e g R w=25 4 5,020 1,777 3,243 0 354%|  0.0%| S52.8.22 454
15| #rly| 3 - 3 76155 B G T PR w=22| RBE 2,880 200 0 2,680 6.9%| 93.1%| S30.4.25 674
16| @l | 3 - 3 84|z vy g kAL DR w=27 5 190 190 0 0| 100.0%| 0.0%| H28.1.8 64
17 @l | 3 - 4 10/ 5 Uy SR 1L AR w=16 2 2,150 1,390 0 760 64.7%| 35.3%| S21.10.7 754
18| iy | 3+ 4 12| K T #if A JE AR w=16 2 1,780 1,780 0 0| 100.0%| 0.0%| S30.4.25 674
19| ®ikF| 3 - 4 13| AT 5 % T %5 w=16 2 940 330 0 610 35.1%| 64.9%| S33.3.18 6447
20| IR | 3 - 4 14 78 I 382 ) 11 w=20 4, 10670 3,740 948 5982 35.1%| 56.1%| S33.3.18 6447
21| il | 3 - 4 15| 805 07 A5 w=16 2 1,940 1,228 0 712 63.3%| 36.7%| SI11.5.18 864
2| @3 -4 16|36 45 352 ) 1145 w=16 2 3,730 3,730 0 0| 100.0%| 0.0%| S11.5.18 8641
23| El | 3 - 4 17|30 A5 I AR w=16 2 3370 0 0 3370 0.0%| 100.0%| $33.3.18 644F
24| iy | 3 - 4 18] 5 M AT AR w=20 4 8,390 3277 671 4442 39.1%| 52.9%| SI11.5.18 864
25| Ml | 3 - 4 19| ) e (7t B4 U6 w=16 2 3,880 1,495 0 2,385 38.5%| 61.5%| SI1.5.18 864F
26| milky | 3 - 4 20| LR #7141 w=16 2 850 850 0 0| 100.0%| 0.0%| S57.4.20 404
27| milkF | 3 - 4 21 |7 £ B TR w=16 2 470 0 0 470 0.0%| 100.0%| S57.4.20 404
28| milky | 3 - 4 22|F8 & 5 2 AR w=16 2 7870 6,730 0 1,140 85.5%| 14.5%| S36.3.23 614>
20| Eiliy | 3 - 4 23|15 B T KRR w=18 2 3,750 2,140 400 1,210 57.1%| 32.3%| S51.7.30 4647
30| milkF | 3 - 4 24| = iy E A1 HR w=20 2 9350 1,407 943 7,000 15.0%| 74.9%| S33.3.18 644
31 &R | 3 - 4 25| A8 B BRI E 0 AR w=16 2 690 0 0 690 0.0%| 100.0%| $36.3.23 614
32| w3 - 4 26|38 55 5538 0 i w=20| 4 3430 3430 0 0| 100.0%| 0.0%| SI11.5.18 864
33| E | 3 - 4 A1 EITERPE 0 #R w=20 2 380 380 0 0] 100.0%| 0.0%| HI3.3.16 214F
34| Bl | 3 - 4 42| a5 AR w=20 4 2,480 2,480 0 0| 100.0%| 0.0%| S61.5.20 364
35wl | 3 - 4 44| K T AT AR w=18 2 4610 1,970 810 1,830  42.7%| 39.7%| H3.10.11 304
36| mliy | 3 - 4 46| -1 1 5 HR w=16 2 1,180 0 0 1,180 0.0%| 100.0%| HS5.11.24 284F
37| @l | 3 - 4 47| -1 2 SR w=16 2 1,480 0 0 1,480 0.0%| 100.0%| HS5.11.24 284F
38| milky| 3 - 4 488 B ER AL 1 R w=17 2 200 160 40 0 80.0%| 0.0%| H6.4.15 284
39| Bl | 3 - 4 53|RE FBRATE VB w=20| 2 380 380 0 0| 100.0%| 0.0%| H8.8.13 264
40| EilgE | 3 - 4 54| T2 3k 1 SR w=18 2 1,090 208 878 4 19.1%|  0.4%| H8.8.13 264
41| EigE | 3 - 4 55| P24k 2 SR w=16 2 1,310 560 750 0 42.7%|  0.0%| H8.8.13 264
2| &g 3 - 4 56| T2 4k 3 St w=18 2 630 630 0 0| 100.0%| 0.0%| H8.8.13 264
43| Eigi | 3 - 4 57| A A R BT R w=16 2 420 140 0 280 33.3%| 66.7%| H10.2.20 244
44| Eigi ) 3 - 4 58| [ 2 MY RS 11 AR w=18 2 190 190 0 0| 100.0%| 0.0%| HI3.3.16 214
45 BERG | 3 - 4 60| I %2 HH AR w=16| KRR E 3,850 852 0 2,998 22.1%| 77.9%| S52.8.22 454%
46| BERG | 3 - 4 61| il i 1 HLAR w=17 2 3,600 706 754 2,140 19.6%| 59.4%| S52.8.22 454%
47\ B 3 - 4 62| RITHE 2B 2 H At w=16 2 2,550 126 0 2424 4.9%|  95.1%| S52.8.22 454%
48| BERG | 3 - 4 63| Hil i FEAL 1 54 w=16| KRR E 800 0 0 800 0.0%| 100.0%| HI1.7.21 334
49 B3 - 4 64|75 43 1 w=17| KRR E 640 640 0 0| 100.0%| 0.0%| S52.8.22 454F
50| BEKG | 3 - 4 655 43 5| il #r w=17| KRR E 1,200 0 0 1,200 0.0%| 100.0%| S52.8.22 454%
51| HimT| 3 - 4 77|BR i@ 0 B w=18| R E 590 410 0 180 69.5%| 30.5%| $28.12.28 684
520 HiMT |3 - 4 78| [E3H 175 %1 w=18 4 2210 1,710 500 0| 77.4%| 0.0%| $28.12.28 684F
53| BT |3 - 4 YA v —FzrTIbnfi w=16| KRB E 490 490 0 0| 100.0%| 0.0%| S50.1.10 474
54wl | 3 -5 27|5F JB e bt R w=12 2 3,710 3,110 0 600 83.8%| 16.2%| S36.3.23 614
55| Ml | 3 -5 28| 5 iy IR 3 26 T A w=15 2 560 560 0 0| 100.0%| 0.0%| S21.10.7 754
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56| El | 3 -5 29|33 ¥ Uit 8 V) AR w=12 2 200 200 0 0] 100.0%|  0.0%| S55.4.30 DA
57| Hlk | 3 -5 30| T fif] ]I w=12 2 3,110 0 0 3,110 0.0%| 100.0%| SI11.5.18 8641
58| @il | 3 - 5 31|HESS /B BR AT 0 w=12 2 860 0 0 860 0.0%| 100.0%| $36.3.23 614
59| @il | 3 -5 32| /N S AR AR w=12 2 1210 1,100 0 110 90.9%|  9.1%| S50.8.30 474F
60| Eil | 3 - 5 33| F/h Sk w=12 2 410 410 0 0] 100.0%| 0.0%| $50.8.30 474
61 @il | 3 - 5 34|18 /N K #j w=12 2 870 710 0 160 81.6%| 18.4%| S55.1.16 4214F
62| mR| 3 - 5 35| R\ H IR AR w=12 2 370 370 0 0] 100.0%|  0.0%| $57.10.15 394
63| Bl | 3 - 5 36| A BT A SRR w=12 2 740 0 0 740 0.0%| 100.0%| $36.3.23 614
64| Eilky | 3 -5 37| b4k B 2 R AR w=12 2 1,560 0 0 1,560 0.0%| 100.0%| S36.3.23 614
65| Ml | 3 - 5 38| JiH 55 BT 1 w=14 2 930 930 0 0| 100.0%| 0.0%| S50.8.30 474
66| Ml | 3 - 5 40| LR FH 8763 w=12 2 1,360 1,360 0 0| 100.0%| 0.0%| S60.10.5 364
67| Ml | 3+ 5 43| TR R R w=12 2 860 860 0 0| 100.0%| 0.0%| HI.1.14 334
68 Ml | 3+ 5 49| B SRV AR w=12 2 350 350 0 0| 100.0%| 0.0%| H6.4.15 284F
69| Filky | 3 -5 S1HR 1 56k w=14 2 840 840 0 0| 100.0%| 0.0%| H7.7.21 274
70| EilEy | 305 52T R 2 w=14 2 220 220 0 0| 100.0%| 0.0%| H7.7.21 274
7B |3 - 5 66|52 T # w=12| RPE 1,880 0 300 1,580 0.0%| 84.0%| S52.8.22 454
2B 3 -5 67| HE AR w=12| KRR E 1,550 1,550 0 0| 100.0%| 0.0%| S52.8.22 454F
73 B3 -5 69 | Wl # w=12| KRR E 590 590 0 0| 100.0%|  0.0% $54.8.7 4347
74 BEG | 3 -5 70| SR AR AR w=12| KRR E 1,330 1,330 0 0| 100.0%|  0.0% $54.8.7 4347
75\ BEES | 3 -5 71 |Fif 467 BT w=12| KRR E 510 510 0 0| 100.0%| 0.0%| S60.9.30 364
76| BEES | 3 - 5 72| v L AR w=12 2 1,530 440 507 583 28.8%| 38.1%| H7.11.28 264
77\ BEES | 3 -5 73|51 BB <F R w=12| KRR E 810 650 160 0 80.2%|  0.0%| H7.11.28 264
78 BES |3 - 5 T4 E AR AR w=13| KRR E 750 750 0 0| 100.0%| 0.0%| S52.8.22 454F
79 BEE |3 -5 75| E AR w=13| KRR E 1,600 740 0 860 46.3%| 53.8%| HS8.11.29 254F
80| HHT [ 3 - 5 80| HA Fnid v w=12| KRR E 1,590 0 0 1,590 0.0%| 100.0%| S30.4.25 674
81| HHT [ 3 - 5 81|15 A3 0 w=12 2 790 790 0 0| 100.0%| 0.0%| S30.4.25 674
82| HHT [ 3 - 5 821 iV w=12| KRR E 420 0 0 420 0.0%| 100.0%| S30.4.25 674
83| @il [ 3 - 5 85| it % A V) R w=13.3 2 1,040 0 1,040 0 0.0%|  0.0% R4.7.22 04
84| FilF | 3 - 6 393 4 Fe i w=l11 2 2,730 1,300 0 1,430 47.6%| 52.4%| S11.5.18 864
85| HHT [ 3 - 6 83| 1 [ 8T T AR w=10| KRB E 1,750 1,750 0 0| 100.0%| 0.0%| S30.4.25 674
86| Ml | 7+ 6 1| ER#H w=10 2 410 350 0 60| 85.4%| 14.6%| S60.10.5 364F
87| @l | 7 - 6 217 B K FER w=9 2 1,150 1,150 0 0| 100.0%| 0.0%| S60.10.5 3647
88| ml | 7 - 6 3| b K ) B AR w=9 2 1,000 1,000 0 0| 100.0%| 0.0%| S60.10.5 364
89| |7 - 7 4T D AR w=6| R IE 720 695 0 25 96.5%|  3.5%| H1.4.20 334
90| EilF | 8 - 6 1| fim v w=8| HHIE 920 920 0 0| 100.0%| 0.0%| S36.3.23 614
91| EilF | 8 - 6 2| FH T A0 ) 11 T w=8| HHIE 350 100 0 250  28.6%| 71.4%| S33.3.18 644
Q| miE| 8 - 7 1| 0 W R B 1 BRI 15 A w=6| HHIE 260 188 0 72 72.3%| 27.7%| HI7.7.1 1747
93| milki| 8 - 7 2| iy BR A 0 BR A 25 R w=4| HHIE 40 40 0 0| 100.0%| 0.0%| HIZ7.1 174
o4 Filky | 8 |7 3| B HE AR w=3| HHIE 5,840 5,840 0 0| 100.0%| 0.0%| S50.8.30 474
95| BEFS | 8 - 7 4K HR w=6| #HiE 740 602 138 0 81.4%|  0.0%| H7.11.28 264
96| milkF | 8 - 7 5| iy R P 1 IR AT AR w=7| #HHIE 200 200 0 0| 100.0%| 0.0%| H27.3.24 THE
97| mlF| 8 - 7 6| Iy BR PG 1 LR w=4| HHIE 190 190 0 0| 100.0%| 0.0%| H28.4.27 64F
98| milky | 8 - 7 7| Ik BR A O BR AT 3 SR w=4| HHIE 310 310 0 0| 100.0%| 0.0%| H29.8.3 SHE
9| milkF| 8 - 7 N w=4| HHIE 20 20 0 0| 100.0%| 0.0%| H30.1.11 4
100 46| 3 - 4 14 1)1 w=16| KRR E 1,690 0 0 1,690 0.0%| 100.0%| S61.1.17 364
101 %96 | 3 - 4 2| e s R w=16| KRR E 2,890 0 0 2,890 0.0%| 100.0%| S61.1.17 364
102) 46| 3 - 4 3R R AR w=16| R E 3,700 0 0 3,700 0.0%| 100.0%| S61.1.17 364
103| 546 | 3 - 4 4| KT gl v # w=16 2 2,730 0 0 2,730 0.0%| 100.0%| S61.1.17 364F
104 46| 3 - 4 SR PR AR w=16| KRR E 2,900 0 0 2,900 0.0%| 100.0%| S61.1.17 364
105 96| 3 - 5 6|35 P AR w=14| KRR E 2910 0 0 2910 0.0%| 100.0%| S61.1.17 364
106) %46 | 3 - 5 7| R A SRR w=14| KRR E 2,580 0 0 2,580 0.0%| 100.0%| S61.1.17 364
107 ZH| 3 - 5 8| & [ £ JF AR w=12| KRR E 2,620 1,680 0 940 64.1%| 35.9%| S61.1.17 364
108 ZHF| 3+ 5 [Jr- ZA=IIE w=12 2 2,960 575 0 2385 19.4%| 80.6%| S61.1.17 364
109 ZHF | 3+ 5 10| P2 # w=12| KRR E 1,370 62 0 1,308 4.5%| 95.5%| S61.1.17 364
110 Z4| 3+ 5 11| ZEB bR w=15 2 2,760 1,900 860 0 68.8%|  0.0%| H2.1.30 324
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56| @il | 3 -5 29|33 U o 3 0 AR w=12 2 200 200 0 0| 100.0%| 0.0%| S55.4.30 4214F
57| mlk | 3 -5 30| T B[] il R w=12 2 3,110 0 0 3,110 0.0%| 100.0%| SI11.5.18 8641
58| @il | 3 - 5 31HERS VI BRATE 0 #R w=12 2 860 0 0 860 0.0%| 100.0%| $36.3.23 614
59| @l | 3 -5 32| T/ S HLEAR w=12 2 1,210 1,100 0 110 90.9%|  9.1%| S50.8.30 474F
60| FilRF | 3 - 5 33| F/h SR w=12 2 410 410 0 0| 100.0%| 0.0%| S50.8.30 4747
61| k| 3 - 5 34|18 /N K #R w=12 2 870 710 0 160 81.6%| 18.4%| S55.1.16 D24
62| Bl | 3 - 5 35| K\ H IR AR w=12 2 370 370 0 0| 100.0%| 0.0%| $57.10.15 394
63| M| 3 - 5 36| 2 1 B A R w=12 2 740 0 0 740 0.0%| 100.0%| $36.3.23 614F
64| Filky | 3 -5 37| b4k B 2 R AR w=12 2 1,560 0 0 1,560 0.0%| 100.0%| S36.3.23 614
65| milky | 3 -5 38| JiH 55 BT 1 w=14 2 930 930 0 0| 100.0%| 0.0%| S50.8.30 474
66| milky | 3 -5 40| HLRUI B w=12 2 1,360 1,360 0 0| 100.0%| 0.0%| S60.10.5 364
67| Ml | 3 - 5 43| TR R R w=12 2 860 860 0 0| 100.0%| 0.0%| HI.1.14 334
68| milky | 3 -5 49| B B VG AR w=12 2 350 350 0 0| 100.0%| 0.0%| H6.4.15 284F
69| Ml | 3 - 5 S1HTR 1 56k w=14 2 840 840 0 0| 100.0%| 0.0%| H7.7.21 274
70| &R | 3 -5 S2|HT R 2 B w=14 2 220 220 0 0| 100.0%| 0.0%| H7.7.21 274F
7B |3 - 5 66|52 T w=12| RPE 1,880 0 300 1,580 0.0%| 84.0%| S52.8.22 454
T2 B3 -5 67| HE A AR w=12| KRR E 1,550 1,550 0 0| 100.0%| 0.0%| S52.8.22 454F
T3 BEE |3 -5 69 | W3 # w=12| KRR E 590 590 0 0| 100.0%|  0.0% $54.8.7 4347
11| %43 - 4 2| FL L e R w=17 2 5,640 0 0 5,640 0.0%| 100.0%| H9.11.18 244F
12| %4 | 3 - 4 4| F = H ARG w=16 2 6,720 180 0 6,540 2.7%| 97.3%| H9.11.18 244F
13| 4|3+ 5 3| HR T R w=14| RPE 3,880 0 0 3,880 0.0%| 100.0%| H9.11.18 2447
14/ 4|3 - 5 5| bk H R4 AR w=13| KRR E 1,030 0 0 1,030 0.0%| 100.0%| H9.11.18 244
15| 4|3 - 6 1R 44 R w=10.5 2 4,070 530 | 3,540 0 13.0%|  0.0%| H2.11.13 314
16| & 33 2| E Ak v R w=27 4 3,900 3,590 310 0 92.1%|  0.0%| S59.4.27 384E
17, & 33 31K I R w=24 4 3,760 1,880 | 1,880 0 50.0%|  0.0%| S59.4.27 384
18] & 3 4 1|58 25455 %1 w=16 2 6810 415 330 6,065 6.1%| 89.1%| $59.5.18 384E
19| & 3 4 4K B A R w=16| KRB E 3,260 70 0 3,190 2.1%| 97.9%| S59.4.27 384E
120 & 3 - 4 5|31 R w=16 2 970 0 0 970 0.0%| 100.0%| $59.4.27 384
121 & 3 4 6|)11 P4 R w=16 2 1,560 270 84 1,206 17.3%|  77.3%| $59.4.27 384
122| & 3 - 4 UEERGEE:S w=16 2 770 110 0 660 14.3%)| 85.7%| S59.4.27 384
123 & 3 - 4 8|7 B O w=20| R®E 360 0 0 360 0.0%| 100.0%| $59.4.27 384
124 & 3 - 4 9| FRERAL 1 i w=16| KRR E 610 0 0 610 0.0%| 100.0%| $59.4.27 384
125 & 3 4 10| & HAh AR w=16| KRR E 1,430 0 0 1,430 0.0%| 100.0%| S59.4.27 384
126 & 3 - 4 1577 [ R AR AR w=16| KRR E 1420 0 0 1420 0.0%]| 100.0% S60.6.4 374
127) & 3 4 16|/ M 22 I w=16 2 3,570 0 0 3,570 0.0%| 100.0% S60.6.4 374
128) & 35 177 1L B 3 A AR w=12 2 300 0 300 0 0.0%|  0.0% S60.6.4 374
129 & 35 11| 2% 1 P w=14 2 840 840 0 0| 100.0%| 0.0%| S59.5.18 384
130 & 35 12|43 # % bh B R w=14| RBPE 1,590 0 0 1,590 0.0%| 100.0%| S59.5.18 384
131 & 35 13K H 2 b B w=14| RBPE 650 650 0 0| 100.0%| 0.0%| S59.4.27 384
132| & 35 141N Z 63 w=14| RBPE 570 180 0 390 31.6%| 68.4%| S59.5.18 384
BRAR AT 13258 ## &t 314,520 | 157,633 | 25,653 | 131,234 | 50.1%| 41.7%
EEHhEL-| 583%



RRET N R EgwR (1/2)

WER BREF

(m) (m)
W@ 3 - 2 - 1 EATERR w=30| 4 8810 1990 | 1927 4893 | 22.6%| 55.5%| S57.4.20] 404 5
20 ElEE L 3 - 2 50| AT T AR w=30) 2 680 0 0 680 | 0.0%| 100.0%| H10.2.20 244 1
3| EE 3.3 32 S w=22 4 2410 1,640 0 770 | 68.0%| 32.0%| S11.5.18 864 3
4 EwE 303 7 AT 5 TR w=24| 4 4490 2200( 2110 180 | 49.0%|  4.0%| S51.7.30]  46%F 1
s\EE 3.3 45 3 R ATHAR w=25 4 4980| 1460| 1370 2,150 | 29.3%| 43.2%| H5.5.14| 294 2
6| FTIT | 3 -+ 3 76 %5 1B T SR w=22| ARikE 2,880 200 0 2,680 | 6.9%| 93.1%| S30.4.25 674 3
7| IR 3 - 4 10/ 1 I BRABLE 1L #R w=16] 2 2,150 | 1390 0 760 | 64.7%| 35.3%| S21.10.7 754 2
8 M| 3 - 4 13| AR T 5 A T 4 w=16 2 940 330 0 610| 35.1%| 64.9%| S33.3.18]  644F 2
9| R | 3 - 4 14 75 IR % )1 w=20 4 10670 | 3,740 948 5982 | 35.1%| 56.1%| S33.3.18]  644F 8
10| &l | 3 - 4 15| 5 I AR AR w=16] 2 1940 | 1228 0 712| 63.3%| 36.7%| S11.5.18 864 1
11 & 3 - 4 17|l A5 Fh e R w=16] 2 3370 0 0 3370 0.0%| 100.0%| $33.3.18 644 1
12| ®iEF | 3 - 4 18] 75 IRF FT A% A w=20 4 8390 | 3277 671 4442 | 39.1%| 52.9%| SI11.5.18]  864F 2
13| @R 3 - 4 19| 125 IF {7+ BR IR w=16 2 3880 | 1495 0 2385 | 38.5%| 61.5%| SI11.5.18]  864F 5
14 @i | 3 - 4 21 T4 P w=16 2 470 0 0 470 0.0%| 100.0%| S57.4.20 404 1
15| @l | 3 - 4 22/ P\ BT & it w=16 2 7870 | 6,730 0 1,140 | 85.5%| 14.5%| S$36.3.23]  614F 1
16| ElEF | 3 - 4 23 TE AR IR R w=I8 2 3,750 | 2,140 400 1210 | 57.1%| 32.3%| S51.7.30|  464F 2
17| =R | 3 - 4 24|/ Ry AT AR w=20) 2 9350 | 1407 943 7000 | 15.0%| 74.9%| $33.3.18 644F 4
18| ElE | 3 - 4 25 B B BRATE 0 R w=16] 2 690 0 0 690 | 0.0%| 100.0%| S36.3.23 614 1
19| mIE | 3 - 4 44\ K T g HAR w=18 2| 4610 1970 810 1,830 | 42.7%| 39.7%| H3.10.11 304F 1
20| FEF | 3 - 4 46| L7 1 SRR w=16 2 1,180 0 0 1,180 | 0.0%| 100.0%| H5.11.24| 284 1
21| I | 3 - 4 47 1 2 SRR w=16 2 1,480 0 0 1480 0.0%| 100.0%| H5.11.24] 284 1
2| EiF | 3 - 4 57| AL AN T R w=16] 2 420 140 0 280 | 33.3%| 66.7%| H10.2.20 244 1
3 HEE| 3 - 4 60| AT 22 H AR w=16| ARk E 3,850 852 0 2998 | 22.1%| 77.9%| S52.8.22 454F 4
24| BEE | 3 - 4 61| HITHE AR w=17 2 3,600 706 754 2,140 | 19.6%| 59.4%| S52.8.22 454F 4
25\ BERG | 3 - 4 62| HITAGE Yo 2 Bt w=16] 2 2,550 126 0 2424 | 4.9%| 95.1%| S52.8.22 454F 2
26| BERG | 3 - 4 63 HITAE FEAD 1 Bt w=16| RikE 800 0 0 800 | 0.0%| 100.0%| HI1.7.21 334 1
27\ BEE | 3 - 4 655 4 5 [ w=17| Rk E 1200 0 0 1200 0.0%| 100.0%| S52.8.22 454F 1
28| FUT | 3 - 4 775 Y R w=18| RikE 590 410 0 180| 69.5%| 30.5%| S$28.12.28/  684F 1
20| @R | 3 -5 27 5 J2 T bR w=12 2 3710 3,110 0 600 | 83.8%| 16.2%| S$36.3.23| 614 1
30| ElG | 35 30| 2 [t 1 R w=12 2 3,110 0 0 3,110 0.0%| 100.0%| S11.5.18 864 1
31| @ | 3 -5 31 RESS G SR EE 0 w=12 2 860 0 0 860 | 0.0%| 100.0%| S36.3.23 614 1
2| EE | 35 32 P/ S HUMR AR w=12 2 1210 1,100 0 110| 90.9%| 9.1%| S50.8.30| 474 1
3Bl EE 35 3418 B /NN AR w=12 2 870 710 0 160 | 81.6%| 18.4%| S55.1.16]  424F 1
4| EWE 35 36| 14 A AR w=12 2 740 0 0 740 | 0.0%| 100.0%| S36.3.23 614 1
35| ElE | 35 37| A B S R AR w=12 2 1,560 0 0 1,560 | 0.0%| 100.0%| $36.3.23| 614 1
36| BB 3 - 5 66/ U2 TR w=12| RikE 1,880 0 300 1,580 0.0%| 84.0%| S52.8.22| 454 2
37|\ HERK 35 72 o v A S R w=12 2 1,530 440 507 583 | 28.8%| 38.1%| H7.11.28 264 1
38| HEH | 3 - 5 75 B A R w=13| RikE 1,600 740 0 860 | 46.3%| 53.8%| HS8.11.29 254 2
39| HIT | 3 -5 80 BN V) #r w=12| RikE 1,590 0 0 1,590 0.0%| 100.0%| S30.4.25| 674 2
40| FUT | 3 - 5 82/ 1S3 v #r w=12| RikE 420 0 0 40| 0.0%| 100.0%| S30.4.25 674 1
41| @y | 3 - 6 39 3 4 S w=11 2 2,730 1300 0 1430 | 47.6%| 52.4%| S11.5.18 864 3
D &7 6 1| ER AR w=10] 2 410 350 0 60| 85.4%| 14.6%| S60.10.5 364 1
B FET 7 -7 49 Y AR w=6| ARRE 720 695 0 25| 96.5%| 3.5%| HI1.420] 334 1
44| &y | 8 - 6 2| T A0 )1 T 5 w=8| AAEH 350 100 0 250 | 28.6%| 71.4%| S33.3.18 644 1
45| @iy | 8 - 7 1| &5 Ry RO 01 BRI 15 w=6| AAEH 260 188 0 72| 72.3%| 27.7%| HI17.7.1 174 1
46| THB | 3 - 4 14 21 w=16| RikE 1,690 0 0 1,690 0.0%| 100.0%| S61.1.17|  364F 1
47 BHB | 3 - 4 2| SRR w=16| RikE 2,890 0 0 2890 0.0%| 100.0%| S61.1.17]  364F 1
48/ HHB | 3 - 4 3|4 FR R R w=16| ARk E 3,700 0 0 3,700 | 0.0%| 100.0%| S61.1.17 364 3
490 EH| 3 - 4 4R F il v R w=16 2l 2730 0 0 2,730 | 0.0%| 100.0%| S61.1.17|  364F 2
S0l HAS | 3 - 4 SR PR w=16| RikE 2,900 0 0 2900 0.0%| 100.0%| S61.1.17|  364F 1
SIWEH ) 3+ 5 6|4 P AR w=14| Rk E 2910 0 0 2910 0.0%| 100.0%| S61.1.17 364 1
S EHE 3 -5 7| R SR R w=14| Rk E 2,580 0 0 2,580 | 0.0%| 100.0%| S61.1.17 364 1
S| AL 3 -5 8| i) A AR w=12| RikE 2,620 1,680 0 940 | 64.1%| 35.9%| S61.1.17]  364F 1
sS4l EHE | 3 -5 o4 1 )IHR w=12 2| 2960 575 0 2385| 19.4%| 80.6%| S61.1.17]  364F 4
S5|EHE 3 -5 10 FE# w=12| Rk E 1370 62 0 1308 | 4.5%| 95.5%| S61.1.17 364 1




HRES I G HR (2/2)

HE e : :
REE EHF $xh AET mm anz opae 8RO EE

(m) (m) (m) (m) b b

S6| 4 | 3 - 4 2| HL LR w=17 2 5,640 0 0 5640 0.0%| 100.0%| H9.11.18 244 2
514 3 - 4 4| T = AR w=16 2 6,720 180 0 6,540 | 2.7%| 97.3%| H9.11.18|  244F 2
S8l R4 | 3 5 3 EER T AR w=14| RikE 3,880 0 0 3880 | 0.0%| 100.0%| H9.11.18|  244F 1
9|4 35 5| b HL R R4 TR w=13| RikE 1,030 0 0 1,030 | 0.0%| 100.0%| H9.11.18 244 1
60| & 3 4 1|38 2545 # w=16 2 6,310 415 330 6065 6.1%| 89.1%| S59.5.18| 384 4
61| & 3 4 4% Wb IR R w=16| ARk E 3,260 70 0 3,090 2.1%| 97.9%| S59.4.27 384 1
62| & 3 -4 SUHE)I AR w=16 2 970 0 0 970| 0.0%| 100.0%| S59.4.27| 384 1
63| & 3+ 4 6/)11 PN th AR w=16] 2 1,560 270 84 1206 | 17.3%| 77.3%| S59.4.27 384 2
64| H 3 4 7 HARE w=16] 2 770 110 0 660 | 14.3%| 85.7%| S59.4.27 384 2
65| & 3 4 NEE R NISE: w=20| ARk E 360 0 0 360| 0.0%| 100.0%| S59.4.27 384 1
66| & 3+ 4 9| FERAL 1 w=16| RikE 610 0 0 610 0.0%| 100.0%| S59.4.27 384 1
67| & 3 4 10|35 H b R AR w=16| ARk E 1,430 0 0 1430 0.0%| 100.0%| S59.4.27 384 1
68| & 3 4 1577 11 R ARAR w=16| ARk E 1,420 0 0 1420 | 0.0%| 100.0% $60.6.4 374 1
69| & 3 -4 16|71 2 R w=16 2 3,570 0 0 3,570 | 0.0%]| 100.0% S60.6.4 374 1
70| & 35 12/ AP % b AR w=14| RikE 1,590 0 0 1,590 | 0.0%| 100.0%| S59.5.18 384 1
7| & 35 14/ 11N Z AR w=14| RikE 570 180 0 390 | 31.6%| 68.4%| S59.5.18 384 1
72

&t 188,090 | 45,706 | 11,154 | 131,230

= ’598% ’ ? RE LAREHEHK TIREHR | 123X [
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